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1) n? /1l 2) Share 88 in the ratio 19:25 3) Find the value of 'x' by completing the
9 square of the following equation: 2 +
n 8x + 16
Answer: Answer: Answer:
4) Find the mean of the following set of data: 5) (1x 101) -(9x 62) 6)
0.1, 0, 47, 11, 100, 0.4, 55 Find the next three numbersin
the sequence
80,85,340,345,1380,1385,5540_, ,
Answer: Answer: Answer:

7) Solve by factorising
f2.2f-3=0

Answer:

8) Solveby factorising
f2-2f-3=0

Answer:

9) Solve4f2-16f-7=0
Round your solutionsto 1 decimal
place.

Answer:

10) Factorise 8d2 + 32d + 14

11) Y of 95

12) 'What isthe probability of rolling a
even prime number.when rolling a
dice

Answer: Answer: Answer:
13) Find perimeter of 14)  Anamount was increased by 7.7% to 15) Solvehy factorising
a p triangle $126.00. Find the original amount. g?+13q-14=0
h=9473,a=9981
c cm,

b=9986 cm, c=
9996cm

Answer: Answer: Answer:
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16) Round 16.841262831 to 5 significant 17) Find perimeter of 18) 9 I1
figures. b rectangle having 16
sidesa=8312cm
a and b = 2896 cm

Answer: Answer: Answer:

19) 6/, 20) (5-8)+10+1

128
Answer: Answer:
Total: /20
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Answers:

1) n26 2)2:86 3) (x +4)2 4)305 5) -314 6) 5545,22180,22185, 7f=3o0r-1
8)f=30r-1 9)f=440r-04 10) (4d + 14)(d + 2) 11) 19 12) Yg 13) 29963cm 14) $116.99
15)g=1or-14  16)16.841 17) 22416cm 18) 8 19) 8 20) 8
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